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In [1]:

import numpy as np

import pandas as pd

import matplotlib.pyplot as plt

from scipy import stats
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In [2]:

a, b=2 6
X = stats.uniform(a, b-a)
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In [3]:

Xx_range = np.arange(a-1, b+1, 0.01)
plt.plot (x_range, X.pdf(x_range), color="green)
plt.hlines(0, a-1, b+1, color="gray’)

Out[3]:
<matplotlib.collections.LineCollection at 0x13c89bbef10>
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In [4]:

Xx_range = np.arange(a-1, b+1, 0.01)
plt. plot (x_range, X.cdf(x_range), color="green’)
plt.hlines(0, a-1, b+1, color="gray’)

Out[4]:

<matplotlib.collections.LineCollection at 0x13c8aeceeb0>
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fig = plt.figure(figsize = (12, 4))

RS, HWEMREZE 1 X2 (CHBUT, 1EBBO/\GEE(IC ax1. 2&BHO/INBREIC ax2 EWDSERIZT TS,
ax1 = fig.add_subplot(1, 2, 1)

ax2 = fig.add_subplot(1, 2, 2)
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In [5]:

fig = plt. figure(figsize = (12, 4))
axl = fig.add_subplot(1, 2, 1)

ax2 = fig.add_subplot (1, 2, 2)

Xx_range = np. arange(a-1, b+1, 0.01)

ax1l.plot (x_range, X.pdf(x_range))
ax1.hlines(0, a-1, b+1, color="gray’)

ax2.plot (x_range, X.cdf (x_range))
ax2.hlines(0, a-1, b+1, color="gray’)

Out[5]:
<matplotlib.collections.LineCollection at 0x13c8af76df0>
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In [6]:

I HERHE PG = X = 4§ InHmBEHEFES,
X.cdf (4) - X.cdf (3)

Out[6]:
0.25



In [7]:

i M EDFE
X.mean(), X.var(), X.std(

Out[7]:
(4.0, 1.3333333333333333, 1.1547005383792515)

In [8]:

# LA o =
X. isf(0.05)

Out[8]:
5.8

In [9]:

# EEXHE
X. interval (0. 9)

Out[9]:
(2.2, 5.8)
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In [10]:

lam = 3
Y = stats. expon(scale=1/1am)



In [11]:

fig = plt. figure(figsize = (12, 4))
axl = fig.add_subplot(1, 2, 1)
ax2 = fig.add_subplot(1, 2, 2)

X_range = np.arange(-1, 3, 0.01)

ax1.plot (x_range, Y.pdf (x_range))
ax1.hlines(0, -1, 3, color="gray’)

ax2.plot (x_range, Y.cdf (x_range))
ax2.hlines(0, -1, 3, color="gray’)

Out[11]:
<matplotlib.collections.LineCollection at 0x13c8b0378b0>
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In [12]:

I ERSHE SPO.5 =Y = 1.2)8 InHmB@HEES,
Y.cdf (1.2) - Y.cdf (0.5)

Out[12]:
0.19580643770113726

In [13]:

# M EDHE

Y.mean(), Y.var(), Y.std(

Out[13]:

(0. 3333333333333333, 0. 1111111111111111, 0. 3333333333333333)

In [14]:

# LA o =
Y. isf(0.05)

Out[14]:
0.9985774245179969
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In [15]

m s =3, 2

7 = stats.norm(m, s)

ZERH & DB OMHE

XEHDEHEEIBE I DNEND D, CCTldm+ 5s DEEZEIEE U,
In [16]:

fig = plt. figure(figsize = (12, 4))

axl = fig.add_subplot(1, 2, 1)

ax2 = fig.add_subplot (1, 2, 2)

Xx_range = np.arange(m — 5%s, m + 5%s, 0.01)

ax1l.plot (x_range, Z.pdf(x_range))
axl.hlines(0, m — 5%s, m + 5%s, color="gray')
axl.vlines(m, 0, 0.2, color="gray’)

ax1. set_xticks (np. arange (m-5%s, m+5%s, s))

ax2.plot (x_range, Z.cdf (x_range))
ax2.hlines(0, m - 5%s, m + 5%s, color="gray’)
ax2.vlines(m, 0, 1, color="gray)

ax2. set_xticks (np. arange (n—-5%s, m+5%s, s))

Out[16]:

[Kmatplotlib. axis. XTick at 0x13¢c8b0d5430>,
<matplotlib.axis.XTick at 0x13c8b0d5400>,
<matplotlib. axis. XTick at 0x13c8b0c9f40>,
<matplotlib. axis. XTick at 0x13c8b10da30>,
<matplotlib. axis. XTick at 0x13c8b119310>,
<matplotlib.axis. XTick at 0x13c8b119880>,
<matplotlib. axis. XTick at 0x13c8b119d90>,
<matplotlib. axis. XTick at 0x13c8b1232e0>,
<matplotlib.axis. XTick at 0x13¢8b12370>,
<matplotlib. axis. XTick at 0x13¢c8b123d00>]
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In [17]:

# FERFE P0.5 =7 = 2.5 FomBEHEES.
Z.cdf(2.5) - Z.cdf(0.5)

Out[17]:
0.29564390065022095

In [18]:

it MEHEDFHE
Z.mean(), Z.var(), Z.std(

Out[18]:
(3.0, 4.0, 2.0)

In [19]:

# BBl o =
Z. isf(0.05)

Out[19]:
6. 289707253902946

In [20]:
# EREXEE

CI = Z. interval (0.9)
Cl

Out[20]:
(-0.2897072539029457, 6.289707253902945)

In [21]:

tBRE
Z.cdf (CI[1]) - Z.cdf (CI[O])

Out[21]:
0.9

PlE
X ~ N(=1,2%) d &2, (1) P(X < 2.29), (2) P(X > x) = 0.01

In [22]:

X1 = stats. norm(-1, 2)
X1.cdf (2. 29)

Out[22]:
0. 9500150944608786



In [23]:
X1.isf(0.01)

Out[23]:
3.6526957480816815

]

X ~ N(156,5%) m& =, P(153 < X < 160)

In [24]:

X2 = stats. norm(156, 5)
X2. cdf (160) - X2.cdf (153)

Out[24]:
0.5138914836665298

In [ ]:



